
5,G11

6,G13

Mg_k2=1?

 

6,Leak

Mg_k2>1?

 

2,G8

True?
Mg_k1:=Mg_k2+Mg_k1

Mg_k2:=0
 

5,G4

Mg_k1>1?

 

6,G6

Mg_k1=1?

 

True?

 

4,G9

True?

 

3,G10

True?

 

True?
Mg_k2:=1

 

0,G12

True?

 

1,G0

2,G1

True?

 

4,G2

True?

 

3,G3

True?

 

True?
Mg_k1:=1

 

0,G5

True?

 



G11

undef null

Mk2

next

Mk1

next

z y



G13 undef

null

Mk1

next

Mk2

next

y

z



G4

undef

nullMk1

next

z y



G6 undef

null

Mk1

next

y

z



G8 undef

null

Mk1

next

z y



G9 undef

null

Mk1

next

y z



G10 undef

null

Mk1

next

y z



G12 undef

null

Mk1

next

z y



G0 undef null



G1 undef

null

y



G2 undef

null

y



G3 undef

null

y



G5 undef

null

y


